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1. A bus has exactly six stop on its route. The bus L) At (et} Augrmnt
first stops &t stop one and then at stops two, T. Six scientists A, B, C, D, E and F are present a
three, four, five and six respectively. After the bus paper aach at one day conference. three of them
leaves stop six, the bus tums and return to siop will present in the moming session before the
one and repeats the cycle. These stop are at six lunch break whereas the other three will be
buildings that are in alphabetical ocrder L, M, M, O, presented in the aftermoon session. The leciures
P and Q. Some other information about the stops have to be scheduled in such a way that they
are as follows- comply with the following restrictions.
i '_SH"EE"_J":’ sop. B should present his paper immediately before
M_’B the 3_““" stap. C's presentation, their presentations cannod be
e S wiy o, separated by the lunch break. D must b either
Mis the stop immediately before L. the first or the last scientist o present his paper.
In case N is the fourth stop, which among the In case C is to be the fifth scientist to present his
following must be the stop immediately before P 7 paper, then B must ba the;
(a0 EH}E i e == |- i3 ey brst {b} second
{c} N FE== - {c}third {d} Fourth

2. Inafinite group Z is defin The parabola y° =4a(x-c,) & x" =daly-c,)
P is prime number then touches each other then locus of the point
(&) z is cyclic group (b} xy = 2a*
(&} z is not finite group e

3 Mohan dries of Sushil
speed of 40 mph. § he
an hour, how far
{a) 60 miles ax
(c) B0 miles 2

4. As lave
following relations
(a) lce : glas
(c) Stream

5 A survey 1
marmiage is fattening & Gy : tan' x ——log{1+x*)
average, women gained 23 pounds and men 2
gained 18 pounds during 13 years of marriage. (c) tan ' x (d) none of these
The amswer fo which among the following
questions would be the most approprniate in 1 I -3 0 than A™
evaluating the reasoning presented in the survey? ' o -2
(a) Why is the time perod of the survey 13 years, r

thar than 12 or 147 {31254113 o ] :b}[ﬁﬂiﬁ g ]
{b) Did any of the men surveyed gain less than 18 L 0 3368 0 4008
pourds during the period has was married 7 53411 O
{c} How much weight i= gained or lost in 13 years f“'—‘[ 5 mg] (d} nane
by a single people of comparable age to those
st 12.  Soluion of differential eg. =Y =
(dy When the survey was conducted were the - Eﬂ'a‘“_!“_il
women as aclive as the men.
1 . . _ (a) y+1tlogix+y+2)j=c

6. Which of the following words is most opposite in
mearing to the word ABATE 7 {b) ¥y +1=logix +y + 2)+c
(a) Attach (b) Alter (c) y=log{x+y+2}+c
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{d) none C)1+x" (d) none
13. I y belong to the set A=(1, 2, 3, 5, 6, 10, 15, 30) i |
and x,, x; ¥, glso belongs to the set A, then The foci of the ellipse :_B+§=I and the
number of solution for x,xx. =y :
(a) 64 (b) 84 hyperbola 111—{?:?15 coincide then the value
{c) 2T (d) none of these o
14. I f{x) = min {x’, x} than which of the following is (a)5 ' (b) 7
i fe) 1 (d) none of these
(a) F is continuous everywhere
{b} F is no where differential Tlnulhld:
{c} Fx)=1whenx>1. i
{d) all the above. (a)e"—1 b} 1—e
15. The coefficient of x in tha a:pamm of | __._l[l::]lE{1+Hj {d) mone of thesa
[+du+a); 23
(ah1
i (b} 1
16.  The value of 1+22+32° )1 S
{a) 1002 + 1 ;
() 1002% + 1 d. degree uf IhEl differential equation
17. The two veclors is said b
(i) sama length
(iil) same sense
(a) only | and I
{c}only 1 and 1 ainder will be
18. Solution of the equa
(&) infinitely finany: none
(b) exacty one af |z + 1| where [z +
(e} more than 2 solufi
{d} no solution 3 b (3, 3)
% 1 — How {c) (4.0} (d} nonea
- ;z,',i-:' Distance from the centre of dircle (x° + y'=2x)
from the line passes through the poit of
{a) nin+ 1 ib} an+ o+ 1) intersection of the circle;
2 s eyt +5x-By+25=0
{u}w {d) none of these ey —3m-y-1=0
{a) 113 (b) 1
20. Tx—[:]: c}2 ()3
[} 1M+32+33+.. .nn
(a) 50 (b) 100
{c) 200 P s {a) l:|+'l:|!—1 (b) (n+1)+1
M. F @x) be the imwerse of f{x) and ks iy S
i 5 If three forces 3F and 2P and their resultant is R
Fix}= . p'(x) s equal to; If first force is double and then resultant is double
1+x then angled between the;
(a) 1+ [elx)l’ (b} 1+ =" {a) 607 ib) 30"
I.r|i
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[c) 1207

3. K1, and f, are the flinght time of two parlicle
having the same initial velocity u and range R on
the horizontal then 7 + 1 is equal to:

(d) none

u by 2
{B}g !}g,
u*

—— d) 1
{ﬂ}i (d}

32. Find the value of t when {2t +2t+ 28 +1+2)
are satisfied in the equation x+2y=1
(b) &

(e} 4

where | is the incentre of a AABC. rfﬂ'lafm:zaa

ane is equilibrium then F.Q R is
A B C

(a) cos—cos—cos—
2 2 2

A B _C
(b} sim— sim—sin—
Pt Sy

A B c
(c) sec —sec —EBC—
2 2 2
A B C
(d} cosec —cosec —cosec—
2 2 2

36. the number of integral points exactly in the interior
of the triangle with verdices (0, 0), (0, 21), {21, 0}
is;

37.

lim ﬂ
4 n
{a}0

(c) Ve

(b} =
{d) mane

If dandb is & unit vector and @ is the angle

between 3 and b then find ain% =

(@ 51a+51

[YER

{8) 8 + cosx

=" AC)x + sinx
40. f[x} ¥ max (x, 0)

I
b} —|a-b
Hzl I

1
id) '|||5 {1-ab)

=30.=—Which of the following is odd function

B)1+x+x
(d) mone of these

C iz a root of the

{a}ﬂ' :m 7
{c) C° - 3C +7=0

(b} C° + 3C + 7=0
(d) mona

In & party there are some people if every parson
shakes hand with ewery other person, total
handshake is 66, then how many people were at

the party;
(=) 11
(c) 13

{b) 12
(d) 14

The two verical of a equilateral trianghe lie on a
integral point then the third vertices will be;

(&} integral coordinate
(b} ration coordinate

(c) at least one co-ordinate imational

{d} none of thesa
{a) 133 (b) 180
[c) 223 (d)105
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45. Find radius of circle touching of the circle 54, W (1+ax)" =1+Bx +16x" + .. then the value of &
(2 4) +{yz4y =4 and 2
(a) B(+Z - 1) (b} 2(Z -1 @)z 4 ib)4, 2
(c) 42 -1) (d) 42 -1 ki v
55. If A~[A_B) then which of the following true 7
48. If fix+y+zfily) flz) and £(2) = 4 and F{0}=3 then
Fix) {8} A b} B
(a) 12 b} & (c) A"uB {d) mane
{c) 8 {d) none 58. If a+b+c=0 then root of equation
ez & T -1 (b+e—ak’+{a+c—bx+{a+b—c)=0 has;
& b . {a) distinct and real {b) real and imaginary
47. Determinant of the matrix 9 0 4 -3 (c) equal root (d) none of these
o o -1=5 -57— Ifa, b, c, d in GP than
e e B = (@ #b" +c )b+ +d7 )=
E] =B
{c)—1 =" {a) (ab+ be + cdf (b} {ad+ bc+cal
48. FabceR andthe e ax’ +bx+c=0 have (c) {ab+ac + adf’ (d) none
{Eﬁlﬂﬂﬂ?:n S ; ¥ a® +b® +c” =1 then (ab+bc +ac)
aja=h=-—c -
Cla=hse la) equal t@ 157 1 =5 than 1
eata a) moms
40.  If fix)is odd function -axis and moved 5 meter
-axis then co-ordinate of
{a) aven function
(c) neithar even nor o v
50. LWHJB"‘ 014 "
times is 840 function, which is
() 2
(c)4 goh) = {fogjoh
51. Mumber of point of the discontinuous of —— . o
log|x| 61. Let F be the ellipse E+—:‘-—=1md‘|::'balha
b, ircle ° + y’=0_ Let P(1, 2) and Q(2. 1) be two
Pt i3 o din Vv P(1. 2) and Q(2, 1)
(c)4 (d} nare {3} C lies inside C but outside E
82, [+ (x0T +[° —(x" -0"°" then degree of {b) Q lies outside both C and E
polynamial; {c} P fies inside both C and E
{a) 10 ib} 12 {d} P lies inside C but outside E
{c) 13 (d} none of thesa 62. Letaand b two unit vecior. If the vector a+2b and
53. I the function of palynomial of degree 2 then fix) Sa — 4b are perpendicular to each other then
fix) gix] hx) angle bebween a and b is
where f(x}=|F(x) g'(x) h'(x) o 2
fo(x} g™(x) h"(x
{a)—1 {b}1 63. If|zl=1then [Z=1=7
()0 {d) nane 41
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(a) purely imaginary T1. Ifa. b, c, d are four consecutive vecior of sides of
(b} purely real qual:l'!lalu'sl _ﬂmn what necessary condition for
{d) none {a) a+d=0 (b} a+c=0
{c)a=c {d) &, ¢ both
If ¥y =e'{Acosx+Bsinx) then :
{a) y"' -2y' +y =0 b}y sy +y=0 T2 H*I=EI!’¢+2Y|+2Y:+----21'n.|+1’|]' is represent
(e} y"'~('F+y=0  (d)none which e ?
i {a) trapozodial rule (b} simpson rule
(c) George rule {d) mone
&
N n 1 o
. > " T3, I fin)= 2 + E[‘I—{—'I.]"I then function is;
I ; = | - — {8)one-one and onto
:\/ﬁ"u - - (b} ohta but not one
If input is either form A ~= {e)neither one-one nar onio
is the probability of B (d} none of these
WL OB CF il . Twa friends decided to meet at a location
:’;;’:“;“"’”‘“t signal i ape rdh' 111.53 both arrive at time uniformly
i ibute am to 11 am. then what is
{cy1=(1— P : e ¢ that ‘one who e first have io
solution of m=3 (mod 1
{a) 52 Ih} 11/36
{c) 30
The domaim of find E[2x+ 1]
ﬂx}:m"lbg,
(a)[-2,-1] -
(o) [-2, —1]u1,2] ! siwith b and & unbiased
How many numbac babwe -
;utmc:i;:;ﬁwymmnﬁwmmamhmt {E'E[g] (b} Efhx}
(ah 7 (b) 20 {c) median (d} none of these
{c)12 (d) 21 ;
Tr. If A©B denote the symmetric difference of A
Let r is the inradius of regular polygon of side h and B, then which of the following is false;
and R is the circumcentre thenr+ R = (a) (A@B)EC =A~B
n a K
{almﬂ’fa (b} EME b) ASA=A
" 4 5 I ) c) A2O=A
(s} Emniﬁ mEmE'LEF (d) AZC=B®CifA=B
Sum of the product each term of [10, 11, 12, . 20} | T8 '-:L‘-"[:"-"‘} 3"““ f:']‘“_t;“r: “'f:: :E E;ET‘L_“?' Y
with each term of [21, 22, ..... 30] equal to; el oy ) e S el r: il
(a) 46075 (b} 56371 f;f:“"“ R “'!':ﬁ
{c) 46750 (d) none o)~ H —
e
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T9. Given 86. A particle acted by constant forces 41 + | — 3k and
A(10. -1).B(20,-3.C{-1.208 D3, -2 1). 3i + j — k displaced from the point (1 + 2j + 3k) to
. B point (5i + 4 + k) where |, j and k are unit vector
Find :upclufhﬂ on CD is; . diia by fha i
{8) — (b} {&) 20 unit (b} 30 unit
~33 165 {c) 40 umit {d} nane of these
i}
(c} 7 (d} none 87. let o=081235847 and r=0627184503 be
169 permutation on {1, 2, 3, 4, 5, 6, 7, 8. §) in one live
P notation (based on the usual order integer). What
80. Y aj=693.a,.a,.a, .. are in AP then find of the following is comect gate rotation for ©.C.
I.'.: (s} 12495368 (b} 142507368
Ya,, i {c) 142053768 (d) 1425368
mam P 88. Find odd out;
(a) i (k) = | = =(a)guava b} fitchi
o e  {c)watermelon (d) papaya
. centroid of a tria = ;
s oF B vt | Opposite word of ABATE
vartex are; {a) Augumeant {b) Attsch
d) Astist
(@) (132 43) )
a is D‘" fruﬂ the top and 38" from
(c) (4. 3:4/5) B ars there:
82. If Abe lower triangle m !hHﬂ
(a) upper triangular (d) 45
(b} lower triangular travels B0 mis in east
(c} diagonal matrix E20m before turming to
{d) none of these s his uncles house
z 5 90 m to north and
83.  What will b an find he distance
given by f{ X he meet the father:
3. ... can serve as jdint pn
{ah 13 B (d} momne
{c} 136 a1 92. vilage PQRS are such that g lies south west of P
1 2 3] and R lies east of Q and south sast of P, P lies
i north of R on the line of PQ. What is the position
4. WK A=|0 -2 -1|then of Hins i o P:
004 {a) Morth east {b} South west
(a) Eigen value are equal (c) South (d) MNorth
2 e e e 83. System is coded as SYSMET and NEARER is
{c} Two Eigen value are distinct coded as AENRER the how is FRACTION coded:
{d} non= {a) CARFATING (b} NOITCARF
85. I Aand B are square matrix then; (c) FRACNOIT (d) CARFOIT
(i) det (AB = dt (BA) 94. The 7" day of month is 3 day earfier than Friday
{"}dntlAB}fﬂﬂﬂlmldﬂﬂhFﬂurdﬂ'tIBFﬂ then what will be the 18" day of the month 7
(iii}) det (AB™ ) = dt {A perpendicular B} (a) Sunday (b} Monday
(a) anly (i} statement is comect {c) Saturday {d) Friday
(b) anly {ii) statement are comect.
{c) all are correct.
(d} none of these
fimet
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95. As aeroplane is related o cockpit, then train is (c) 38 (d) mone
ke iy 104. In normal distribution density function in defined
(a) Engine (b} compartment as with vanance 16 and mean 45 also given
(c) Each (d) Wagon L
*2dt = 0.5802 then find |z] = 3;
96. The english slphabet which comas 16% & the 1-[ ® izl
right of the 4" latter to the left latter is 1; =
(aju b}V {a) 0.5802 (b) 0.4827
(c} 5 (d} Mone (c) 0.7285 (d) none
97. A+ B means, A is brother of B, AxB means A is 105. If two vertices of friangle are (6, 4) and (4, 5).
dmafufﬁﬂrﬂﬂ—ﬂmﬂﬂmﬁiﬁfﬂﬂ'ﬂrdﬂ Third vertices lie on the equation Sx+Ty=28_ Then
then P+QR what means; find the locus of centriod is;
{a) P is uncle of R (b} F is son of R {a)9x +Ty—58=0 (b) G+ Ty +58=0
{c) P i brother of R (d} P is mother of R _ fc)Sx+Ty+28=0 [y + Ty —28=0
98.  Havi and “‘E‘l“é::? good in.h 106, If probability distribution is defined as Fx)=(x-1".
saction an i ane : i ; i o
basaball. Cauray and Ki 3 = B =x <1 Thenfind the distribution of function;
and volleyball. Sachin, = 014 - 014
good football and ba F’C*}j 4 2 {b) P{x}a 4 1
hudnery,_\rulyhsllmd 233 BEE
(a) Ravi i
(c) Kunal o 1 %
1=
90. If a swimmer swims 5 0 3
crosses 8 niver, wh
flows with 4 kmh t . i
SWIITIMEer Crosses s==x+y, with inifial
(=8 rule, from x=0 to
{c) 18
100. LOWER is | @ 1.5835
following which is a
(a) AMOMNG : OMN i
t fi fo — umit
(€)W - ROSWA unit from origin to up un
101. f G means add to J means multiplied by T means right — unit below — : ft, lma'dmmﬂ-lm
subiracted from K means divided by then the 8 16
valueof 0K 2G3JEBTSE what is end point of the particle;
(a) 28 (b} 31 (2 4
8 - b} (0, O
{c) 30 {d) 103 ”'I,E | (b} (0.0)
102. Find the warance the probability of head is 25 of d
a coin. i there are 150 coin are tossed; {“}[grg ) none
(a) 08 (b) 56 109. There are 7 friends which accommodate in 3 in 1
{c}46 (d) 45 flate and two in 2 flate. Then the number of ways:
103. In a MCA group there is 3 subject that is C51, {a} 210 () 3000
C52, C33, if 20 student leam CS51, 25 student {c) 5040 {d) mone
besarty 52, N) Magwes G2, 1160 shadkmnt faseiiy 42551 110. There are 2 brothers and 6 are more persocn are
and G52, 20 C52 and C53 and 15 learn CS51 and ik
i ather. They sit in a row then find the number of
C53 and 7 student all three subject then find the L X
Tib GF Btdnt: ways these two brother are not sit together;
(@) 37 (b) 35 {a) 5040 (b} 14400
{c) 620 id} mone
e
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